N = 0l & AF & F Al A

201285 =0lat LeSIA JIBHSEEH EX2elY ~ EX2el

M EXl2tel
M EX2el =23t

CHel: DAZAO ENHUEN 2 EER:E]
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE

EXlzel 4,144,898 3,345,710 799,188
= 993, 138
< 3,151,760

EXlZ2 o 583 1,615,218 1,312,000 303,218
= 993,138
[ 622,080

DAENO ENHE 2Y 60,000 10,000 50,000

EXZ2 L HAUEA = 60,000 10,000 50,000

201 Ler2 Y| 50,000 0 50,000

01 At 22l 50,000 0 50,000
ODISEEX XA S2 50,000

202 04| 10,000 10,000 0

01 204 10,000 10,000 0
OSSHHARA =8 10,000

ENNE 29 274,938 94,000 180,938
= 104,138
[ 170,800

X =2 H B AL 110,000 30,000 80,000

308 XHXISHH SO & 110,000 30,000 80,000

01 HXESHBAEES 110,000 30,000 80,000
oNm22EX el 110,000

™= gnoel 55,800 17,600 38,200

201 LEr2 Y| 18,800 5,600 13,200

01 ALl 18,800 5,600 13,200
OXNF=22ol -3 5,000
ONE - MEAS2E 29 13,800

202 o4l 7,000 10,000 A3,000

01 204l 7,000 10,000 A3,000
ONF=Z S 7,000

401 Al EHIL 2T b 30,000 2,000 28,000

01 Al&H| 30,000 2,000 28,000
OEIE BERL 30,000

X =T ZEA AL 109,138 0 109,138
= 104,138
[ 5,000

201 LEr2 Y| 5,000 0 5,000

01 At 22l 5,000 0 5,000
OXETUEAIRI RS 2 5,000

308 XHXISHH SO & 104,138 0 104,138
= 104,138




M EXlztel
M EX2el =23

oel: EXRE 2% (649l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2

01 RSB A EES 104, 138 0 104, 138
OUXEXXTS 104, 138
= 104, 138

MZE2L - B2 "3 1,280,280 1,208,000 72,280
= 889,000
= 391,280

S2II8 NSHAILE ®itsH(2D) 780,000 480,000 300,000
= 780,000

403 XSS KH= 0| A 780,000 480,000 300,000
= 780,000

01 XX SR XH2 2 X 780,000 480,000 300,000
OZZIIBNGIAEE Hits 15 - S 780,000
= 780,000

MZEA - B2 B23 ALY 195,000 469,000 A274,000

201 LEre Y| 115,000 148,000 33,000

02 ZZ2H| 115,000 148,000 33,000
OXEFAZH KNS 115,000

202 04 12,000 11,000 1,000

01 2UHoiH| 12,000 11,000 1,000
OMEL  BAER Y42 =& 12,000

207 1IN 2| 50,000 300,000 £250,000

02 & AR LY 50,000 300,000 250,000
OTAHE AYALAEY 2= 50,000

308 XXl £+ M SO0l & 18,000 10,000 8,000

01 RXSHBABES 8,000 10,000 8,000
OT2YZEL NS RN 8,000

MEARHAIY 22(22) 144,000 180,000 36,000
= 43,000
= 101,000

201 LBr2 S| 144,000 180,000 36,000
= 43,000
= 101,000

01 At2r2lHl 144,000 180,000 36,000
OMEAAY =8 144,000
= 43,000
= 101,000

MEAAY AIS2 RI22(21D) 66,000 79,000 13,000
= 66,000

308 XXl £t M SOl & 66,000 79,000 A 13,000
= 66,000

01 RSB A BES 66,000 79,000 A 13,000
OTRYEAL ALES &F 66,000




SA: EX 2

Mai: X 2elo 5235t
ool MEA - 22t MRS CrRLE
2N -3 - c2(3H) - NEME - HES Ol &F2H ;'?-Il/lig_":‘g Hns
| = 86,000
CEYFAIEE AXFHET HHAL 95,280 0 95,280
403 KX SHHIS K20l & 95,280 0 95,280
02 271 2-S Ofl CH & CH 8 AL 24 95,280 0 95,280
OS2YZAISE NUS H& L BRE 95,280
sS™Ol WAz 2,488,640 1,996,800 491,840
2. zena B 2,482,240 1,996,800 485,440
2. 2o 58X o 1,482,240 1,158,800 323,440
201 2 BH2 e | 470,240 306,800 163,440
01 AL 2r2/HI 93,360 306,800 ~213,440
OZRMAASRS 45 3,360
OBAAX L TR AHEA SY24E 90,000
02 ZzS| 376,880 0 376,880
OASAIME =T 2HIH| 376,880
202 01t 13,000 13,000 0
NEDLEL 13,000 13,000 0
0= DML MEHEA L ADXE 3,000
308 XX EHHI S 01 & 999,000 839,000 160,000
0 X SHZABES 999,000 839,000 160,000
OZRML HeBE 999,000
ST AIE B 1,000,000 838,000 162,000
401 AlSHI 2 S TH] 1,000,000 838,000 62,000
01 Al &t 1,000,000 838,000 162,000
0% ERAE S EXNHY 1,000,000
UREA =X 6,400 0 6,400
UxEA =X 6,400 0 6,400
202 01t 6,400 0 6,400
01 =01 bl 6,400 0 6,400
OYXI=A 3 X 2ol 6,400
HH A (EX 22 D) 41,040 36,910 4,130
=2 41,040 36,910 4,130
B2 Jl=HY 41,040 36,910 4,130
201 2 Br2 e 30,080 27,310 2,770
01 At 2r2lHl 30,080 27,310 2,770
SH2Y ARBE 30,080
202 01t 10,560 9,600 960
01 20!l 10,560 9,600 960
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